nanosecond

614400 s: Mdev= 0.89639E-14 Tdev= 3180 ps
307200 s: Mdev= 0.87276E-14 Tdev= 1548 ps
153600 s: Mdev= 0.12864E-13 Tdev= 1141 ps
76800 s: Mdev= 0.16552E-13 Tdev= 734 ps

- 38400 s: Mdev= 0.24054E-13 Tdev= 533 ps
08/05/13 vsleigrt56467 _40.ppp_defaut+4d-15 19200 5 Melev= 0.32627E-13 Tdov= 362 pe
9600 s: Mdev= 0.49028E-13 Tdev= 272 ps
4800 s: Mdev= 0.68387E-13 Tdev= 190 ps
' ' ' ' ' ' ' ' 2400 s: Mdev= 0.92034E-13 Tdev= 128 ps
= 1200 s: Mdev= 0.13686E-12 Tdev= 95 ps

600 s: Mdev= 0.21858E-12 Tdev= 76 ps
300 s: Mdev= 0.39701E-12 Tdev= 69 ps
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